Integer Worksheets
(Number Line)

1. What is the sum of — 6, 12, and —4. Model your answer on the number line
below.

2. What is the sum of 2, 8, —11 and 7. Model your answer on the number line
below.

3. If a football player gains 40 yards on a play, but on the next play, he loses 10

yards, what would his total yards be for the game if he ran for another 60 yards?
Model your answer on the number line below.
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Integer Worksheets
(Number Line)

1. What is the sum of — 6, 12, and —4. Model your answer on the number line
below.

(-6) +12 + (—4) =2

2. What is the sum of 2, 8, —11 and 7. Model your answer on the number line
below.

2+8+(-11)+7=6
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3. If a football player gains 40 yards on a play, but on the next play, he loses 10
yards, what would his total yards be for the game if he ran for another 60 yards?
Model your answer on the number line below.
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